Probreim Set g 3.1k, 10, 22, 30, 31 Solutionas
P ' ¢ 1 i A A1)

SR n - o001 (N8
o
@ = A0 mis
du«z&\;\&g - \om
weLlA | Hna NRCESSONY pumpin 9 rate Yo caprure 6\ the pollutont

uSINgG CGPTUNE Curves (9.223):
- dumpng ARl extends ~ 500 To eaen Side oF Nel A

- s cor@esponds o Qw o 1o (gggum\\ns AILPRYEL Con e neg\tc’rco\)
eg0 '

4= L(%r_l = mis (0.00\3 = 07 m\s

Qu = 1200 (oge)
= 1200 M (oMY e s = \\ir& 0™ ‘(*%\SJ

W &) $oFurateds n=05%, fee= Mo, Poz 1A gom?
tMUa. Yow s \(}"cﬂ
esfimate reXardation fucror

\s¥ CqUATION 0 Yooie 3-5:
"\09\ Voo = 0.9 '\QB\LQN .31
2 0.5 (LoD FAxTIz a0

2 .0y (1M m\,\S\ XS m\.\g

R Y ¥Wafo = ve (280 "mL\gil-\g\‘km”") = 9201 | LN
no Ton



P unsafurated: &= 009 (frotfion of woter)

Note Foof e equution given W ittiure, B=1vkéfe, refers to
& themital Thot s net volonit,

o
@@,‘H S CAls OTMOnSs ANt érgamg L(.Mbon MCO\’O\nS
° e ® T0 Ly, nd iwnto the e ucwrd\ng Sy
Q 2erva

BOYN €8 Frnest Prases are iememoile,
30 BALC T e wostT vasic defiinon of €,
= momile Y immonile MOpE ~ TR N WoTer
W00ile

ANMOEINE = Crit\3 i Qar, 0vg. 200N
Grnount W wofee = Qu- &

A0V W i = Qe (r-8) & v nAUGEs A & WOrTe, §1\S water (m\\i
aanouwny N U(g foreon = D¢ Mo

B2 0w @ Galn-0) ¢ Qs o

= ix Caln-8) * Cs pp

Cw"\"f

Tw-& S
usng Tre JeTnTons Tnot ®e Qe ond Va4 - O
Cw W

>

1

RV Rn-0) v yyop

¥ &

e Y88 2o SIATFRIT IS
R= A3 0L(0A®) + 281l QAagems)

= %09 \ ‘
0% (OAYS)




24,
= | L Lo 0 eyt Ww- g

g

ofk. > % P2 \62 monitg et 20°0)
T m— ¢ p= 00U S\Qmﬁ = ereoe 151885 dense than woavecy
8" Loty ‘lem. B W W foren & NAPL on oD ov
iRoang e WOTRE Y00\ Lavid Thus be

mnk‘ o . .
ditfusing taougn B )
\, L
D for wmaotrmuwm Tluk:
- nexdne \§ ﬁ'\\'et\’\\\ under the (‘_Q\‘(\P\"ESSQ‘( pAM
=¥ Croom = 0, and Cae (ngnt above tne NAPLY atrerrmined oy VoPor Pressure

32 -D4L

Car= = = \HLwmig (\o’mﬂ.‘\’\uommﬁg\
av N oa
03200 L o%m| ot & (24%1)
= ,008% moeilL = g3 pnol\md
Dest 2 Ve dorrechion For QUOSHY s Xortues ity (P23
o CYRRT RPPrOXINETICNS Are possibie
= QoS (02 .
0.1eeds (OB g a5 el
\§2
RETVRY St " A SR PR _
< ' (’o-ﬂm\ x BHMON O \1.1*\0‘” rnol|m> st
WO 3048 m

B) e WONYT Y0 Tind Croom OF grcady statfe and COMPAre Tnig o Tne Pammaeble Wi,

QY Sready srave, R in = Hut oul

-

Bux in = Dew (Camr-Croomd = 4.2% 10 wile (8.5 moi\en? - Lrooee)
A%

2.04%T™m

-

= ANV ol - ST
m)—.s E

o
Lesim

(rnniply By Gres To ger fiux instrad of Rluv devsity 5 Fakang A=im> s shnplest)



fut out = vo\uene - Croomn - O th\’ng‘cs (po¥ice s is malriene )
For A=lm> V= 1%m?

(=0 mot - Aeg” e looe M) = 18w Caom (004) % O
™3 § doy  SuslUs

TV 0™ - 40007 Cpem = Lt )oY trom

Croom = 2.8 ot m?

Lenvert To particd pressure:
P DRT = 2600 mailL (00200 Lotm Y243 - 0.0U) G
mei K
SINLE OMEIENYT Air Pressure 15\ aten, e contentration of nexane is LT, =
Aornmapie wne s reethed
3. L5 Travel Hmes navt tlapsed YUt the well is ghily pump'mg clean water, ..

s meant the contaminant nas eitner been dcgmdtd or i¢ \oe\ng slowed
down.  Sinte BTEY are h‘\r\\{ Nydropnoie  (WhItn MENS they npve re\a’fwc\\‘
g Kow (QIURE) and the aguiker containg 0rganic terbon, verardotion
15 0 defunive postionvy,

P
@ @ @ \

Gevene Toiuene emj\benRne *y\tne
(3 orrangements ?uss\b\ﬂ

for venene, log kow = 2.1
Sinte these are aromatic compounds  (aromgtic = co‘nm‘m'mg u-tarven r'mg%\
We CON LSt Thig cc&uufm\n;

‘\Lg Loe = 0.4%7 109 Yow -0 00 = 149

o= Boe-Mor = 000500 = g.293 g

B2 irvvape = vx osazmlgUisugiem®) . e assume 0= 0.3
n : 0.3 Po: (-0 Pe

= 04 (?,‘uag'\trm’ﬂ 2 \ju 3‘\c.m’>

REYQrdaTIoN can ae%\m’vc\\{ ALLOUNT Tor he 3e\0y.  Tne BIER could 6180 have
Ren degraded, most \ikeiy Fhougn baodcgrudo‘ﬁen (photoiysis sy going 1o
be too \very undtrgmu nd, and aromatic Lomnpounds aren't recliy gusceptibie to
PYATOINTIL),



) “%'-\o(\egmdu’{\cn can aLeount fue e drop wn pr. BTEY gets afidized o L0,

RGN 16 00rdie (oS A2C05).
our good fhend e

ol S\:‘I_‘_“:\ Dcf&t\\cs (X\asmm...
PV ¥ pr=1

AVES SRS A5 107 e\

= (= gt M = L=yt ™ \ ACyz Vo rﬂ

31. @) Tris is just & mofTer of balanting redox equationg:
- assurne compiete oXidation 1o €O,
MRy = 100,
Citie ¥ W20 -7 100, ¥ AERY » e I\gh\‘hu pere”
- dendntiaticn erpected Yo otur: N ig Yroduct
INGT = Na v R0

NG, FATRY R A0RT 2 N v a0 E N0, per €T
"R ; A A . -
20,000 9 Gl |, oy iR (B Mol NG, , ool NGNOs 30Y NGNO
\“03 z\u Moy Uit Mol NesT ™o

0) From DV W et thot while denrmfication s OQ.cuW'ing~, wE L.






